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Trig Basics Test 2

1. (5, —12) is on the terminal side of 4. Find the six exact trig values:

sind= "2 Ve cscA= 'qlb/nz_
- B Y I

COSA = ‘:/lE SeCA = /5

tanA= _\2/ eotA=_ S/,

2. IfsinB= —3/10 in QIV, find the other five exact trig values:

sinB=—%0 cscB= - “7.6
cosB= ‘i\/‘; secB= ‘Q/uq'
tanB= ~3/g cotB="V%/

3. If cot C=154 in QII, find the other five exact trig values:

sinC="g/i-7r cscC= ﬂi%
cosC = “‘g/r.} secC = -y
tan C = '3'/,,;“ cotC=15/8

4, Find the approximate values, in degrees, of 4, B, and C above.

A= 1 >3%0 2340

B= — ' 48 £360/

c= —i81.92% 43¢0,




5. Find the approximate values of:
sin106°= _ aL\

tan-3.356= ® — 218
csc-346°= ¢, 5L 7T

sec8216= —2.32 4

cot 319°= —\, \SC

6. Find the approximate values (in degrees) of:

cos-1.15~='f 4@9 jx?/ig}:ﬂ ‘ﬁ%b@l
[

5] €&, 31O 2 362n
tan-1 2.518= _
{ '{83\-\[) 2 360n

I 1 =20 - S| £ e
cse-l (-2.72)=
s8¢ (27 ) ’ LS FY ¥ 360 A

. I8 £ = ALY
sinl (-325)= 16k 2300
a4 bl 2360 A

sec‘ll.982=H $9.L99 4 36°n




7. A boat sails at 37 knots at a bearing of 213°, The glirrcn.t flows at 6 mph at
324°. Find the magriitude and bearing of the resultant vector.

3%¢=s213" C 4 335, 213°

b cc3t°L + bsia 32.1‘55'

‘__:1 : a —
[z —26. 377 A (~13.2%8) J

- 35*_, Zﬂ}

‘?‘\ = S et 4 IR = 3e—AtGmes
22 FD '
=2l AT e
35 297 =G AT

8. Identify the quadrant and reference angle of :

a) 875° Q1 6,,= 2S5
b) -629° QI 6= 51
) 3773° 5 6, = 1

d) -842 QL 6,=58



9. Find the exact values of the following (using the Unit Circle values)

a)  sin 22% 50 52 i e‘r = ("")

3
= 2o ==K

“
NPE T
b) sec%tan%+cot§csc7% = (ZB (é) + B=E (C‘) (g,
<
- afz
c) sec(—l—lﬁ}cos[g’—x +tan(—7—ﬂ)
(7 2 6
B4 |

= 2 TG -
-k = ¥
3

10. s=—6i+9j and r=151 -8 , find:

a. 3s+4+2r = ‘-\83{—2{\3 e g,g{j._(éj'

(2C Hir 5

l%‘j}?—""‘-‘j\:— m:

b. IT—4S I =
= {3as1 = 58, 6
O 5
25 T -
c.  The unit vector in the direction T = IS¢ -9} - _ff 3. e
E: A



